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SECTION-1

Directions for questions 1 to 5: Arrange sentences
A, B, C and D hetween sentences 1 and 6 to form a
Ibgical sequence.

Afrange sentences A, B, C and D between

sentences 1and 6 to formn alogical sequence.

1. Clues to the answer He at your feet,
scattered among the rubble.

A Most are only a fewinches across.

B. The rock here iz a crumbling, easily-split

sandstone and in it lie thousand upon

thousands of coiled shells.

They are atrtnonites.

botne are g as cattwheel s,

Mo atrtnonite 12 altve today but a hundred

trillion wears ago, they flourished in wast

tmhers.
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a. ADCB
h. BADC
c. CBAD
d DCBA

Amange sentences A, B, T and D betwesn

sentences 1 and 6to fonm alogical sequense.

1. A reptile becomes stuck in a swaiop a0d
dies.

A, Over great penods of time, the peateds
compressed and turned to coal

B. Asthe certuries pass admore Wegetation
accunmilates, the depost ilrmato’peat.

. Changes in sea level miag cauze the swarmp

to be flooded @nd layers of =and to be

deposited omtop af theeat.

Diead wegetalionngrifts to the bottom and

covers@heiiy

Thereptile’s bones still rernain within it

DRCA

BEla

CDBEA

NOART

Atrange sentences A, B, C and D between

setitences 1and 6 to formn alogical sequence.

1. Woyager-1 was wery high in the ecliptic
platie,

A They are tiumnphs of hurran engineering
and one of the glones of the American
SPACE PrOZIaITITLE,

B. In 1981, it had made a close pass by Titan,
the gant moon of Saturn

. The two WVoyager robots have explored
four planets and neatly sixzty moons.
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L. Its sister ship, Voyager, was patched ona
different trajectory, so she was able to
perform her celebrated explorations of
Uranus and Meptune.

6. They will be in the history boble Shen
much elze about our timeis flraoiien

a. CBDA
h. DACH
c. BDCA
d BCDA

Amange sentences (A, B, and D between

sentences 1 and 6toCenm alogical sequence.

1. There are, moreover, UNConscious aspects
of ourdierceptiondaf reality.

A Within dfie Wnind they become psychic
EFELts.

B. (The fifst is the fact that even when our
sgnses react to real phenomena, sights and
sonds, they are somehow trandlated from
the realm of reality.

2 Mot to speal: of the fact that every concrete
chject iz alway:s unlmowm i cerfain
respects.

D Thoes  every  experience  contains  an
indefinite mnber of unknown fotors.

fi. The reason i3 we cattot know  the

ultimate nature of matter itzelf

CBDA

BADLC

DBAC

. DARC

Arrange sentences A, B, C and D between

sentences 1and 6 to form alogical sequence.

1. Theprocess contined for million of years.

A Tihet, bhefore the collision of the
cottinents, tad been a well-watered plain
along the southem edge of Ada

B. Mot has this process stopped.

. On the site of the andent sea there fow
stood the highest and newest mountains in
the-wotld.

Do It was not only pushed upwards ot
gradually deprived of its rminfall by the
young mountaing and so changed into the
high cold desert.

6. India ig still moving north at the mte of 5

centitnettes a year, and each year the

rocky sutmnits of the Hiralayas are a

trillitnetre higher.

CBRAD

DCBA

BADC

ADCE

o ooTm

o0 o®




Directions Q. 6 to 10: Choose the alternative which
suggesis a coherent paragrap h.

.

Choose the alternative which suggests a

coherert patagraph.

A The open road still softly calls, like &
tieatly forgotten song of childhood.

B. Ewen after 400 generations in willages and
cities, we haven't forgotten

. The appeal has been meticulondy crafted
by natural selectionas an essertial element
in o survival.

D We irest far-off places with a cettain
FOTNAnCE.

a. BCAD
h. OCAB
c. CBDA
d ACDE

Choose the alternative which suggests a

coherert paragraph.

A The remaining chapters were written by
wvarious authors to Jung’s direction.

B. The chapter that bears ks rame iz his
worl and nobody else’s.

. The final editing of the complete worl
after Jung's death has been done by Dr.
Won Franz.,

L. It was written, incidentally, in English

a. CBDA

h. ADBC

c. ACDE

d DCBA

Chooze the alternative which suggesté @
coherent paragraph.

A It iz beyond our powers.daytiredict e
future.

B. Your own lfe, or ydor band’ s or even
your species’ might Bedewed to a restless
fewr.

. Long suwmmers), mild winters, which
harvests, plegtefil \game — none of them
lasts forGwer.

D Catastropltocesernts have a  way  of

snfaling up on us, of catching us unaware.

ADEE

BT

ACDB

i BRCA

Choose the alternative which suggests a

coherert paragraph.

A The gquintessence, for exatple, a lizand is
orly fully understandable in the light of
the particular possibilities and limitations
dictated by its reptilian nature,

B. The filins we made, tned to document the
lives of particular animals showing how
each found itz food, defended itself and
courted ete.

N

10.

Tad B3
. We zeldom exatnined the basic character
of its anatoroy.

D One element, howesrer, was trissing

a. ACBD

b, BADC

c. ADBC

d. CDABR

Choose the altemative which suggests a
coherent patagraph.

A These  researchers have become =0
knowledgeable about their subjecta) that
they hawe been guiding us 480 the ight
place at the fight tire.

B. The great increasze during thetpast decade
inn the number off scienbists? actisely
itrwalved in observing aritnals in the wild
15 wety itrportand.

. They have guided us o see exactly that
aspect of behaviousiliat was of particular
interestdmms.

D Almdst edery group of large andmals is

new heing  studied by scientists

everywhere.

BDAC

CEDA

DB A

ACBD

NG

Direciions: In (). 11 to 15, four statermnent with
blanls have been given. These siatements are
follmwed by four alternaiives. Choose the one which
fits into the set of statements the maximam numh er
of times.

11.

12.

Four statement with blanks have heen given

These statementz are followed by four

altematives. Choose the one wiich fits into the

set of staternents the masmuum munber of

tines.

A, Professiomal studies have become the —
ofthe nich.

B. Ewery ctizen has the
trawel and lve as he pleases.

. He has a definite over all his
rivals.

D Sheron no longer has the of the

cotnpaty’ s bungal ow and car

advantage

privilege

right

. right concession

Four statement with blanks have been given,

These  saternents are  followed by four

altermatives, Choose the one wiich fits into the

set of staternents the masimoum msnber of

titnes.

A, People sensed

B. A bad case had come in— a person witha
strashed arrn.

to speal,

o o®




13.

14.

15,

And then, without warring, stack
The dogs were the frst to recognise the
sings of oncotning

=g

a. tragedy
b accident
c. disaster
d. calarmty

Four statement with Hanls hawe been given
These staternents are  followed by four
altematives. Choose the one which fits into the
set of staternents the festmoam mamber of
titnes.

A The tmen there hawe fought and
etnotiotial  withdrawal, and  were  tore
capahle of helping Jim.

B. But does occasonally inflict all

the adults.
C.o A person who iz deeply bt feels wvery

D. Ttis hard to survive this feeling of
a. dgection

h. lonely

o troutle

d. depression

Four statement with Hanls hawe been given

These statements are followed by four

altematives. Choose the one which fits into the

set of statements the mesumum mamber of

titmes.

A, Thawe hada small power of

B. Down with a very hugh fever, he suffers
from frequents fits of

. They are now hitter enermes all
because ofa amall

L. Her 1z the most creadive thing she

has ever posseszed.

illuzion

imagination

hallucination

d. misunderstanding

Four statement With Wlanks hawe been given

These statéments a2 followed by four

altematives \Chodes the one which fits into the

set of CStaternents the mamimum mrmber of

tirnes,

ANCommmniam states that every individual
toust hve for the

CERE=

B “Che of the affairs of the ration is
deploratle.

. hawe been laid down by the
United States, states The Statestnan.

[ Mo has succesded in gaining
cotmplete avtonomy  fom the Fedesl
gOvErtnernt.

a. state

b, nation

C. govermmert

d. condition

Y
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Direc tions () 16 to 18: from the given alternamfes,
select the one in which the pairs of words have a
relatiorship similar to the one between the hold

words.

14.

17.

15.

LYING : FERJURY

a. staterment : testimony

b, szeeing: observing

c. taldng stealing

d. eating: dining
FREHIZTORIC : MEDIEVAL
a. Akhar: Bntich

b, Present: Future

c. whalkespeare : Tentiyson
d. Coloussus: Elephant
LOUL : STEMTORIARN
trild: noisy

painfil : prickiy
adjective : descripiee
bright sesplendent

oo o

Directions: Q10 1623, four parts of a sentence have
heen givei. From the alternatives, find the
combination, which hest gives a meaningful
sentefice,

19.

20.

21

Foilr pattz of a sentence have been given
From the altematives, find the combination
which best gves a meaningfil sentence,

4. there was the hope that in another
edigtence a greater happiness  would
revward one

B. previous exmistence, and the effort to do
better wiould be less diffimdt too when

. it would be less difficult to bear the evils
of one’ = owm life if

[ one could thinls that they were but the
necessary outcome of one’s erorsina

a. CABRBD
h. BDCA
c. BaDC
d CDBa

Four patts of a sentence have been given
From the altematiwes, find the combination
which best gives a mearingfl sentence.

he can ondy renew him selfifhis soul

he renewes himselfand

the writer can only be fertile if

is constantly enriched by fresh experience
CBAD

CADB

BDCA

BACD

Fl:uur patts of a sentence have been given
From the altematives, find the combination
which best gves a meaningfil sentence,

A, butmasterpiece is

B. untaught gerius
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2. a laborious career than as the lucky fluke
of
D omore likely 0 come as the culminating

point of
a. CDABR
b ADCE
c. CDBA
d ACDBE

Four patts of a sentence hawe been given

Frotn the alterratives, find the cotnbination

which best gves a meaningful sertence.

A what interests youis the way in which you

hawe created the flludon

they are angry with you, for it was

the public is easly disillusioned and then

the illusion they lowed, they do not

utiderstatid that

ACBD

BDCA

CBDA

d BCAD

Four pattz of a sentence have been given

Fromm the alterratives, find the combination

which best gves a meaningful sertence.

A an adequate  physical and  sodal
inftastucture level

B. the pattem of spatial growdh in these

towmns as alzo to

the failure of the goverrument to ensure

the roots of the riots are related to

ACBD

DBCA

ABDC

CBDA

o

EERE= S

0o ko

Directions () 24 to 30: Fill in the hlanks

2.

5.

26,

Il Butcliffe’s helpfil notés onhier Btest wine
dizcovenes and her no-nindense warnings to

consumers about fanes provide
guide toSihe manbering amay of
wines of Burguiidis

a. excellenty, . ausciil

b, overrated . dntnadegquate

c. ovirpeced . a trusty

d. aunzatistaciory . a spotty

W wers amazed that a man who had been
herebofore  the tmost of public
spedliers could, ina single speech, electrify an
audienceand bring them cheering to their feet.

a. enthralling
b, accomgplished
o pedestdan

d. auspicious

If wou are trying to malke a strong inpression
on your awdience, you can not do so by being
utiderstated, tentative, or

a. hyperbolic

b restrained

o armumentative

25

a0,

0.

4o 33
d. avthontative
The neighbour grabbed the boy, and rolled

hirn on the road to the flames.
a. smother

b, Il

c. hurn out

d. fizz out

sarn asked me to keep this secret

a. secret

b in trself

C. amongstus
d. between us

motnetitnes the greatest inventions At
idea of startling simnplicity.

a. shunbles upon

b, hingeupon

¢ starves without

d. lacks

Feal friends, geminclimfanting the best for
the orgard satiog, different garbs

a. cotmein

b, cladifi

o (dressedin

d Chothedin

Directiogns 0031 to 40: from the altermatives, choose
ilie one wilich correcily classifies the four sentences
asa

F:

3l

3

Fact: If it relates to a lmown matter of direct
oheervation, or an exdsting reality or something
ko to be trae,

Judgment: If it iz an opiion or estimate or
anticipation of comemon sense or irtention,
Inference: Ifit iz alogical conclusion or deduction
ghout zomething, baszed on the kmowledge of facts.

From the alterratives, choose the one which

correctly clasaifies the four sentences as a

A, If India has embarked on the liberalization
route, she cannot afford to go back

B. Under these drowmstances, being an
active supporter of WT O policies will bea
goodidea

. The WTO is a tnily global orgarnisation
aiming at freer trade.

D Many member countries have already

drafted plans to simplify tanff structures.

FIFI

IFJF

LFF

. IFIF

From the alterratives, choose the one which

cotrectly classifies the four sentences aza

A The Minister definitely took the wrong
step.

B. Under the droumstances, he had many
other altermatives.

. The Pritne Whinister is embarmssed due to
the MWhrmster’ s decidon,
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35

3.

[ Ifhe has put the govemtment in jeopandy,
the MWirdster rosst resign,

a. JFFI
b IFII
c. FFII
d. IFL

Fromn the alterratives, choose the one which

cotrectly classifies the four sentences aza

A The ideal solution will be to advertise
aggressively.

B. One brand iz already popular amongst the
youth.

C. Feducing prices will mmean trouble as our
resrerues are already dwindling.

[, The correct solution will be to consolidate

by aggressve marketing

JF1I

FII

IFF

. JIIF

Frotn the alterratives, choose the one which

cotrectly classifies the four sentences aza

A If democtacy is to surwive, the people
trist develop a sense of consumetism

B. Consumerism has helped itmprove the
quality of goods in cettain countries.

. The protected enwironment in our country
15 helping local manmufachrers.

L. The gquality of goods msuffers if the
marufacturers talle undue advantage of
thiz.

mn om

a. LF]
b, JFII
c. 1IIF
d IFI

From the alterratives, choose the Gne which

correctly clasaifies the fouf zepicnces as a

A Tnless the banks agreedo a ldeferment of
the interest, we cannol @hdw profits this
VEAr.

B. Thiz woild figt Gave happened had we
adopted@etricter credit scheme,

. The revenuciedy far cover only the cost
ané Ealaties.

D abet s 1ern a lesson: we cannot trake

profite) without complete control  ower

credit.

ILIF

LJF1

FIIF

. FIFI

From the alterratives, choose the one which

cotrectly classifies the four sentences aza

A Qualities cannot be injected into one's
personality.

B. They are completely dependent on the
genetic confimuration that one inherits,

. Hence changing our inherent traits is
impossible as the genes are unaltershle.

a o gl

35

39

40

g 0%

[ The least one can do iz to ty and subdue

the “bad qualities™

F1II

JFFI

JF1I

. JFI

Frotn the alterratives, choose the one which

cotrectly classifies the four sentences aza

A Eserything iz purposeless.

B. Mothing before and after the existence of
the wniverse 15 known with certaidty

. Man is a part of the purposelef8 universs,
hetice tan is also purposel sgs

D There is only one way of adding mirpose
to thiz universe: Undopl wath Hi

mooom

a. JFLI
b FIII
c. JFFI
d. 1IF]

From the altesatives, choose the one which

cotrectly flagsifies the four sentences aza

A Eameyday sodal lfe is impossible withoat
interpers oAl relationships.

B. The root of many misunderstandings has
beeti cited in poor relations among
itidividuals.

LA zmming the above to the true, sodal life
will be mmch better if people understand
the impotance of good interpersonal
relations.

[ A study reveals that interpersonal relations

and hence life in general can be improved

with a little effort on the art of individuals.

FILI

JFIF

FIF]

. IFFI

From the alterratives, choose the one which

correctly clasaifies the four sentences as a

A, The prices of electronic goods are falling,

B. Since we have substantial reductions in
import duties, thiz iz obyious,

. The trend iz bound to continue in the near
fubire.

D But the tumover of the glectronic industry

is still fsing, because consumers are

increasing at a rapid rate.

IFJF

FIII

FLIF

. JIFF

From the alterratives, choose the one which

cotrectly classifies the four sentences aza

A Inthe past, it appears, wealth distribution,
and not wealth creation has dominated
econoric policy.

B. Cleatly, the govemrnent has not bothered
to eradicate poverty.

moowm
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. Today's libemlisation is far from the
hitherto Mehnrran socialism

L. Eesults are evident in the form of 2 hoom
in the mamfachuiing sector output and
turnover of all industhes.

FIIF

FIFI

LIF

JIFF

a0 oW

Directions ()41 to 50: Each question contains six
statements follmsred by four sets of corbinations of
three. Choose the set in which the combinations are
logically related.

41. Fach question contains &z statements
followed by four sets of commbinations of three,
Choose the set in which the combinations are
logcally related.
A All wegetatians eat meat.
B. aAll those who eat meat are not

vegetarians.

All those who eat meat are herbivorous,

All vegetarians are carnivorous.

All those who eat meat are camivorous.

W egetarians are herhivorous.

BCE

ABE

ACD

ACF

42, Each question  contains  &E  saterments
followed by four sets of combinations oftitee.
Chooze the et in which the combinationg’are
logically related.

. All rozez have thoms.

All roses have nectar,

All plants with nectar fave dfiorms

All shrubz have rozes.

All shrubs havenectar,

some roses have thorns,

BEF

BCF

BDE

ACE

43 Each question  contains &z staternents
followethly four sets of combinations of three,
Ehopse the set in which the combinations are
booiEally related.

), Mo spring iz a seazon,

SOIe SEASONS ArE Springs.

SOIE SEAS0NS are authumns.

Mo sgasons are auhunns,

Botne springs are not auturms,

All springs are autumns,

DF&

BEF

CEB

DER

Do R T E O == e N e
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45,

gt

47

43,

frof T3

Each question contains &z statements
followeed by four sets of combirations of three,
Chooze the set in which the combinations are
logically related.

- Al faleons iy igh,

Al falcons are blind.

All falcons are hirds,

All birds are yellow.

All birds are thirsty.

All falcons are yellow.

ABLC

CDF

DEF

BCaA

Eau:h gquestion  contails &, staternents
followeed by four sets of ciinbiraions of three,
Choose the set in widch the“@@inbinations are
logically related.

Mo wires are hooks)

. Bome gping are hooles

All spiingfare wires.

same Hioksare not wires.

Mo hoglo 1573 spring.

Al wires are springs.

AR

BB F

BEF

ACE

Each question contains  &E  statements
followed by four sets of combirations of three,
Choose the set in which the combinations are
logically related.

Somme ahraare dabra.

All abra are cabra.

All dabraare ahra.

All dabraare ahra.

Botne cabra are abma

Bomme cabra are dabra.

AFEF

BCF

ABD

BCE

Fach gquestion  contains &z staternents
followed by four sets of combirations of three,
Chooze the set in which the combinations are
logically related.

. Mo planeiza chain

All manes are chains.

Mo trate isa plane.

Botne manes are not planes,

Botne planes are rates

motne chains are not planes.

ACD

ADF

ABC

CDF

Each gquestion  contains &z statemnents
followed by four sets of combirations of three,

oS R TEDO D
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49,

0.

Chooze the set in which the combinations are
logcally related.

. All dolls are nice.

All toys are mice,

All toys are dolls.

Dotne toys are rnice.

sotne nice things are dolls.

Mo doll iz nice.

CDE

CEF

ACD

BEF

Fach gquestion  contains &z staternents
followed by four sets of commbinations of three,
Choose the set in which the combinations are
lugc:allj.r related.

sotne building are not skoy-scrapers.

sotne sloy-actapers are not buildings.

Mo structureis a sey-scrmpet

All sloy-sorapers are stuctures.

All sloy-zorapers are buildings.

sotne structures are not aldings.

ACE

EDF

CDE

ACF

Each question  contatns &z statements
followed ty four sets of combinations of three,
Choose the set in which the combinations are
logically related.

All binz are buckets.

Mo buclet iz a basket,

Ma bin iza basket.

Somne baskets are buckets.

Sotne bins are baslets.

Mo baslet isa bin

EDE

ACHE

CDF

ABF

Ao SR AEADO DR mo SR TED QW

R0 SR EED QD
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Directions: Q. &lycinose the best alternative.

5l

The mumber of votes not cast for the Prja
Barty increased by 23% in the Mational
Lrencial Elections over those not cast for it in
the previous Aszembly Polls, and the Pmja
Farty logt by a majonty twice az large as that
by which it had won the Assembly Polls Ifa
total 260,000 people woted each time, how
many woted for the Praja Party in the
Azsernbly Elections?

a. 1,10,000

b 1,530,000

c. 1,40,000

d.1,20,000

Direcions: 0 52 o 54 are based on the folloving
informmion: Ghoshbabu is staying at Ghosh
Housing Society, Aghosh Colony, Dighoshpur,
Calcutta. In Ghosh Housing Society 6 persons read
daily Ganshaldt and 4 read Anand Bazar Patrika:
in his colony there is no personwho readshoih. The
total mumwber of persons who real these two
rewspapers in Aghosh Colony and Dighoshpur is
52 and 20 respectively. The mumber of persons
who read Ganashakti in Aghosh Colony and
Dighoshpuwr is33 and 121 respectively; while, the
persons who read Anand Bazar Patrile i Aghash
Colony and Dighoshpurare32 and 11 7aespectively.

51

53

Mutrher of persons in Dighoshpor 9o tead
otly Ganashaldi is

a. 121

b 83

c. 79

d. 127

Mutrher Of pérsans in Aghosh Colony who
read hath tiese newspapers iz

a. (L3

LY

coaly

d. 14

blufrher of persons in Aghaosh Colony who
read only one newspaper is

a9

19

39

20

20 ow

Directions (. 55 to 62: Choose thebest aliernative.

55

6.

If lng?lngjlzﬁ+5x+q";:)=|]; find the

value of =

a 1

b 0

o 2

d. Mone ofthese

A right circular cone, a right droular cylinder
and a herrdsphere, all hawe the same radius,
and the heights of the cone and cylinder equal
their diammeters. Then their wolumes are
propottional, respectively to:

a 131

b 213

.o 32l

d 123

Two towns A and B oare 100 km oapart A
school i to be built for 100 students of Town
B and 30 studerts of Town A Expenditure on
transport is Rz 120 per lom If the total
ezzpenditure on transport by all 130 students is
to be as small as posable, then the school
should be built at:

a. 33 lan from Town A




55

50,

fill.

al.

B2

b, 33 lan fom town B
c. Towmd
d TowmB
One rran can do as much woek in one day asa
worran can do in 2 days A child does one-
third the work i a day as a woman, Ifan
estate-owner hires 39 pairs of hands, men,
wotran and children in the ratio 6@ 5 2 and
pays them in all BEs 1113 at the end of the
day’s worle What roust the daily wages of a
child be, if the wages are proportional to the
arnount of worls done?
a Rz l4
h. Rz 5
c. Ra 20
d ERs7
A right circular cone of height b7 i cut by a
plane patallel to the base and at a distance W3
frotn the wettesr, then the wolunes of the
resulting cone and frushum are in theratio:
a 1:3
h. &:19
c. 1:4
d 1:7
Ifa +b+c=0 whetea= b=, then what iz
the value of

a & ?

+ +

2at +he 2 tac 2ot +ak
a. Zem
b1
c. -l
d. abc
If the harmonic mean between tyo pasitive
tnbers is to their geometric mearyas 129903,
then the manbers could be in the ratia®
a. 1213
b 1121413
c. 4.9
d 23
If one root of @psat 12°= 01z 4, while the
equation = 4ypx s %0 has equal roots, then
the value 0fig 12
a. 494
h. g0
C.

i

4
L
4

Directions: (). 63 and 64 are hased on the following
information.

If () = ],

3, ¥ = minitm of 2 and y, and

trafa, b, o) =madmun ofa b, ¢

fi3.

The walue of mala(mdia), oomimdb), a),
mmiab, mdiach] wherea= -2 bh=-3, c=4ig
a 1

b 6

c. &

d -2

Given that a = b, then the relation ma[md(a),
trnfa, ] = mnfa, mdimala, B does not hold
if

a a=0b<=0
b, a=0,b=10
cooaxl b0 &< b
d ax0,b<0, &> b

Direc tions for questions 65 to 73: Chooselthehest
alternative,

fi5.

i,

fiE.

a9,

A water tanks has three taps.d, By and C. A
fills four buclets in 24 toin, B 811 buclets
inn 1 hour and C fills 2 boglkets i 20 mimtes.
If all the taps are opfned tooellier a full tanl: is
ernptied in 2 hours, If a Bucket can hold 5
littes of water, whatiefthe capacity of the
tank?

a.  120likres

b 2AElites

o (La0litges

d Gl litres

abgparr went from Delld to Sitmla wa
Chandigarh by car. The distance from Delhd to
Chandigarh iz 3/ times the distance from
Chandigarh to Simla. The average speed from
Dielld to Chandigarh was halfas much again as
that from Chandigarh to Simla. If the average
speed for the entire journey was 49 lonph,
what was the average speed from Chandigarh
to Simda?

a. 39 2lmph

h. 63 kmph

o 42 lonph

d. Mone ofthese

The fourth term of an arithmetic progression is
8. What iz the sum of the first 7 terms of the
anthmetic progression?

a 7

b 64

Y]

d. cannot be determined

It takes a pendulum of a clock 7 seconds to
strilee 4 o'clock. How mmuch time will it talze to
strilee 11 07 clock?

a. 13 seconds

b, 20 zeconds

c. 1925 seconds

d. 23.33 zeconds

Along a road lie an odd oumber of stones
placed at intervals of 10 m These stones have
to be aszemrbled amound the midde stone A
person can cany only one stone at a time, A
tran cartied out the job statting with the stone
in the middle, carrying stones in succession,
thereby covering a distance of 4.8 lan. Then
the rrrber of stonesis:




a. 35
b 15
c. 29
d 31

0. What is the smallest mwmber, which when
increased by 515 corrpletely divisible by &, 11
and 247
a. 264
b 250
co 260
d. Mone ofthese

7l A rran buys spirit at Rs 60 per litre, adds
water to it and then sells it at Fs 75 per litre.
What is the matio of spirit to waterif his profit
inthe deal 13 37 5%67
a 9:1
b 101
c. 11:1
d. Mone ofthese

T Four friends start from four towns, which are
at the four comers of an itnaginary rectangle.
They mmeet at a point which falls inside the
rectande, after travelling distances of40, 30,
and 80 metres. The masinmn distance that the
fourth could have travelled 12 (approsimately):
a. A7 metres
h. 51 metres
C.  22.5 metres
d. Cannot be determined

T3 Sand B owallk from X to Y, a distance of27 kad
at 5 kmiph and 7 loph respectively. B reaches
T and immediately tiurns back meeting £5ah7.
What 15 the distance fom Xta 27
a. 25lm
h. 215km
c. 24lm
d 20km

Direction: ). 74 to 76, reefer @ithe following
information:

Alphonso, on his deathbedy loveps half his property for
hiz wife and dividedythe Yest equally among his three
sons Ben, Catl and\Daves Some years later Ben dies
leaving half WS hropetty to his widow and talf to his
brothers Cagh andhDavetogether, shared equally. When
Carl makeg z%all he keeps half his property for bis
widowt and the rest he bequeaths to his younger brother
Dage Whett Dave dies some years later, he keeps half
his propetty for his widow and the remaining for his
mnnther. The mother nowhas Bs 1,575,000,

4. What was the worth of the total property?
a. Fez 30lakh
b, Rs 8lakh
c. Fe 18lakh
d. Fa 241lakh

75 What was Carl’s original share?
a. Bz 4lakh
b Rs 12lakh

g T3
c. Rz 6lakh
d. Fs Slakh
7a. What was the ratio of the property owned by
the widows of the three sons, in the end?
a F:9:013
b, B:10:15
c 570
d. 9:12:13

Direc tions: (). 77 to 80, choose the hest alternative:

7T lngzlﬁ\-'? tothehased is

a 3
b 342
o 72
id. Mone of these

TE. Thereis leakin the Bottorgof a tanls, This leak
caty etnpty a full tatls inds hows When the
tanlziz full, 3 tap is opened into the tanl which
adrrits 6 Mires per Wour and the tanlks is now
errptied 0 40 hobrs. What 12 the capacity of
the ténky
a. (MEE lifres
iy, aplidses
2 44 litres
d. Alanniot be detertmined

79 Which iz the least mumber that must he
subtracted from 1856, so that the rermainder,
when divided by 7, 12, and 16, wall leawe the
sarne retainder 4.
a. 137
b, 1361
c. 140
d. 172

all. A dealer offers a cash discount of 2000 and
gtill males a profit of 20%, when he further
allows 16, articles to a dozen to a particularly
sticley bargainer. How mouch percent above the
cost price were his wares listed?
a.  100%
b, B0%
c. 75%

d. Iﬁﬁi%
3

Directions: () 81 to 85, data is a provided follmwed
by two staterments - [ and II - both resulting in a
value, I and I1.

Markaifl =11

Markbif [ <1l

Mark cif[=1I

Ilark dif nothing can be said.

al. Mineteen years fom now Jackson will be 3
titnies as old as Joszeph is now Johnson is three
years younger than Jackson.

1. Johnson' s age now.
2. Joseph's age now.




5.

3.

3.

Iaks aif [ = I
Ifark bif I < 11
Iark cif [=1I
Iark difnothing can be said.
In AACD, AD = AC and £C = 2 ZE The
distance between the parallel ines AR and CD
ish JCAFE =150"and LDEA 30° Then
- F. —y

o oow

oo B
Area of parallelogmm ABCD

Area of AADE.

Madc aif [ =11

adt bifI <11

Iads cif [ =11

Iark difnothing can be said.

Last weell Manog received Rz 10 in
commtrission for selling 100 copies of a
tnagazine. Last week Wanw sold 100 copies of
thiz rnagazine. He recetved his salary offls 5 pr
weel plus a corrrnission of 2 paise for each of
the first 25 copies sold, 3 paise for each of
nest 25 copies sold and 4 paise for each copy
thereafter.

1. Wlanoi's corrgrdssion in the last weels
Ilann’s total incotne for last weels

Area of AADE.

Wladcaif [ =11

Llad bif I < I

Llat cif [=1I

d. Mlatk difnothing can be s

Loy, o, ks are parallel lines &0 2ol BE =3

T .

DSBS e

ctnand CF : 32 cm

A - p—
L |

: : )
. : '
) \\ I,
C ) : \\ r
CAR = (B
(B ORI )
Abeaof AADE.
Nlarcaif I = 11
Mark bif I =11
Iiark cif I=11
Ilard: difnothing can be said.

e e

1. The probability of encountering 54
sundays inaleap year,

2. The probability of encountering 53

sundays ina non-leap yeat,

Wads aif [ = I

Ifard bif T < 11

Iark cif [=1I

Iark difnothing can be said.

2o oW

Hiad 23

Directions: Choose thebest option.

il

The witming relay tearn in ahigh school sports
cotrpetition docked 4-8 mimtes fora distance
of 132 km Tts runners &, B, C and D
traintained speeds of 15 lorph, 16 kreph, 17
ltrph and 18 loarph respectively. What 15 the
tatio of the time talten by B to that talzen by D7
a 5:14

b 517

c. 908
d &:9

Directions: (). 871o 90: If f2{x) 2x 4+ Fand gix) (x-
332, then

87

Ba.

29

a0

Thet fygz) =

a 1

b g

oo [lax+ SWiEkAx -5

d L

For what wilue of'x, §3) = g(=-3)

a (3

h W

HINE

i, hane ofthese

Wildat 15 value of (@b gogef) () fgahg(z)
a =

b %

co (AE4+3du-1)

d [+ 3052+ 3] b2 -4 - 1]
What iz the walue of fi (fig) (gl

a =
b

£ 2H 43

d (x+ 3 dz-

Directions (). 91 to 100: Each item has a question
follovwred by two statemnents

Iflarlc a, if the question can be answered with the help
of I alone.

Iflarls b, if the question can be answered with the help
of [T alone.

Ilark c, if the question can be answered only with the
help ofboth Tand 11

Ilark d, if the question cannot be answered even with
the help of both staternents.

al.

Iz the distance from the office to home less
than the distance from the cinerra hall to
horne?

1. The time taken to travel from home to
office 1z as much as the time taken from
hotne to the dnemsa hail, hoth distances
being covered without stopping,

2. The road from the cinerra hall to home i3

bad and speed reduces, as cotmpared to
that one the road from home to the office.




v

I

a. DMatk a, if the question can be answered
with the help of I alone.

b, DMatk b, if the question can be answered
with the help of T alone,

c. Matk c, if the question can be answered
orly with the help ofboth Tand [T

d Matk d, if the guestion cannot be
answered evenn with the help of both
statements.

Aand B work at digoinga ditch alternately for

a day sach. If A can dig a ditch in 3" days and

B can dig it in *b° days, will work get done

faster if & beging the wotld!

1. nisa podtive integer such that nflfa +
ly=1

2 bra
Blatk a, if the question can be answered
with the help of T alone.

b Matk b, if the question can be answered
with the help of T alone

c. Mlatk c, if the question can he answered
orly with the help afboth Tand I1

d Mlatk d, if the question cannot be
answered even with the help of both
statetnerts.

If twerty sweets are distributed among somme

hoys and gifls such that each gifl gets two

sweets and each boys gets three sweets, wiat

15 the numher of hoys and girls?

1. Themunber of gifls isnot more than five,

2. If each gid getz 3 sweets and each boy
getz 1 sweets, the number of #Wests
required for the children will still bedtig
same.

a. Dflark a, if the question camghe answered
with the help of [ alone,

b, Dflade b, if the questidn can belanswered
with the help of [T alone,

c. Nlads c, if the guestion esfl be answered
only with the help ofbeth [ and 11

d. Dladke d, W%the gquestion cannot be
answeethy even with the help of both
staterneits.

If the GEling price were to be increased by

1 0%, thesates would reduce by 10%%. In what

rallo wonld profits change?

L. “The cost price retrains constant.

2 The cost priceincreased by 10%

g Matk a, if the question can be answered
with the help of T alone.

b, DMatk b, if the question can be answered
with the help of T alone,

c. Matk c, if the question can be answered
orly with the help ofboth Tand [T

d Mak d, if the oquestion cannot be
answered even with the help of both
statemments,

B3,

DA,

BE.

P e 3B

What 1s the average weight ofthe 3 new team

tnetrhers who are recently included into the

tearn?

1. The average weight of the tearn increases
by 20 kg

2. The 3 new mmen substitote 3 earlier
tnetmhers whose weighs are 64 kg, 75 kg,
and 66 kg,

a. Martk a, if the question can be answered
with the help of T alone.

b Martk b, if the question can be Gns@ered
with the help of T alone

c. Matk c, if the question caf be aigwered
oty with the help of both L atid) 1

d. Matk d, if the glestion, cahnot be
answered evenn withothe help of both
staterments.

I segment PO) oreatér than Segment R57

l. PR =EE B()=E&

2. Bisapeinton PO E iza pomt onBG.

a. Martk'a, if the question can be answered
vath the help of T alone.

b, (Martk b, 1T the question catn be answered
wath the help of T alone

oo alarks ¢, if the question can be answered
pfily with the help of both I and 11

dhlatke d, if the ouestion cannot be
answered even with the help of both
staternents.

Three boys had a few Coffee Bite toffees with
thermn The murber of toffees with the zecond
were four more than thoze with the first and
the munber of toffees with the third were four
more than those with the second. How many
toffees were there in all?

1. The nunber of toffees with each of them
15 a multiple of 2,

2. The first boy ateup four toffees from wiat
he had and the second boy ate up =z
toffees from what had and the third boy
gawe them two toffees each fom what he
had, and the number of toffees remaining
with each of themn fommned a geometrc
progression.

a. DMartk a, if the question can be answered
with the help of T alone.

b, Matk b, if the question can be answered
with the help of Talone

c. Matk c, if the question can be answered
oty with the help of both T and 11

d. Matk d, if the cuestion cannot be
answered even with the help of both
statements,

Little Beau Peep she lost her sheep, she

couldn’t rernemmber how many were there, She

ke she would have 400 more nest year, than
the munber of sheep she had last year How
traty sheep were there?




1. The number of sheep last year was 2090
more than the year before that and this
sitrple mte of increase continues to be the
sarne for the neszt 10 years,

2. Theincrease is corpounded anmally.
Wlatk a, if the question can be answered
with the help of T alone.

b Matk b, if the question can be answered
with the help of T alone

c. Matk c, if the question can be answered
orly with the help ofboth Tand [T

d Matk d, if the guestion cannot be
answered evenn with the help of both
statemments.

oa. What will be the total cost of creating a I-foat
horder of tiles along the inside edges of a

tootm’
1. The room is 48 feet in length and 50 feet
i breadth.

2. Ewery tile costs Es 10
Llatk a, if the question can be answered
with the help of I alone.

h. Matk b, if the question can be answered
with the help of T alone

c. Mlatk c, if the question can he answered
orly with the help afboth Tand I1

d Mlatk d, if the question cannot be
answered even with the help of both
statetnerts.

100, Ten boys to a neighbounng orchard. Fach boy
stealz a few rmangoes. What iz thetotal number
of mangoes they steal?

1. The first boy steals 4 mangoes, the fodath
boy steals 16 mangoes, the eight boy 30
mangoe: and the tenth dew’ steals— 40
mangoes.

2. The fird boy stole the mpedooun oumber
of mangoes and the ledth boy stole the
mammm murher of maigies,

a. Dflard a, if the Question can he answered
with the help af [alone,

b, Dflarde b@af the question can be answered
with thehelpubll alone.

o, II&geyc, Of the question can be answered
prlywatithe help of both Tand 11

d.OMade d, if the guestion cannot be
answered even with the help of both
Slatemerts.

SECTION-3

Directions (). 101 to 150: Read all passages
carefully amd choose your answer from the four
alternatives provided.

Directions: Real the passages carefully and mark
thehest choice as the answer.

PASSAGE]

The translation in 1947 of Jean-Pawd Sartre’s lecture,
“Exigtentialistn iz a Humaniam™ (1945, ensured that
the term existentialisim would enter into the vocabulary
of American thought and culture. Existenbialism is
notoriously difficult to define, especially since it
clairns a waried philosophical baclkground, drawing
fom Fene Descarttes, Soren Aabye Fierkegaard,
Friedrnch Wilhelmn Mietzsche, and Martin Heidegger.
Iloreower, as Gabriel Marcel and others announced, an
existentialist could beliewve in God as mighlilyas a
Fartre emnbraced atheism, Sartre’s existenti@lisim, ifits
boldest outlines, catne to rest on the assettion that man
iz free, and that in hawing the feedom to dhoose, man
eticounters atsn ety and despair. Wiale existerfialism in
martre’s hands often dwelled o thel absurd and
problerratic nature of humdn esistefiee] the essential
conclusion that the existenfial pesspective drew was
that our emistence iz of oufed@n rmaling, we are
responsible for ourdites . This “dreadfil freedomd” was
at once extularatits anfl fd ghiening

It1 his introdostien i Satlre’ s lecture on esistentialism,
tranglator Bermard Frechiman remarked that the
American vogue fir Sartre’s “philosophy, which had
beguiin 1845 %aEs . one of those curious phenomena
which fughi vif properly exarmined, idluminate some
peouliatitied of culture in America”™ Alas, Frechtrmen
failed to dewelop this nsight, although he dd suggest
that “the popular press in America had foouszed too
mch on Sartre’ s personality and too Little on his ideas,
Framiration of the initial dissemination of French
existentialism in American popular culture reweals a
mnber of intertwined themes. First, ooch of the
American fascination with French existentialiam was
rooted in what French sociologist Fierre Bourdieu calls
“oultural capital” the power of certain cultumal
representations to comumand prestige and respect.
Ttms, from the start, fashion and idea coexsted to
define the dissemiration of French existentialism in
America. Second, American coverage of French
existentialists such as Sartric, Bimone de B esuseoir, and
Albert Camus exemplified what historian Darel
Boorstin calls the predominance of the celebrity in
modern American culture. The popular reception of
existentialism in America was as much ghout the
image of the intellectual as the content of existentialist
ideas. Third, Sartre and other existentialists were
portrayed in American popular culture as exetnplary of
“an erratic lefl-bank boherndanism™ an irrage that fit
pootly with post-war celebrations of the Amencan
mntellectual as a sober minded, ophirostic, and
respectable  cilizen. By popularising  French
existentialists as celebnties and assodating their
pessiristic philosophy with the trawma France had
experienced in Wodd War I, the popular press
undermined  their reception by the Amencan
intell ectual Cotrrni by, Ilany cotsidered
exstertialism a passing wogue, not centrally applicable
to the life of the tmind in Amenca. Thns, the cultuml




politics for the dissernination of exstentialism in
Arnerica becamne complex. marked by tensions in
control of the coltural capital associated with French
culture and the image of the intellechial. It was neatly
0 wears hefore existentialistm was accepted as a wakle
philosophy  relevant to  the modern  Amencan
irtellectual corrrnunity.

Arnericans in the 1940: highly walued French ideas,
att, and fashion, less for any essential quality than for
the prestige that came wath their French label These
perceptions were satinsed in two cartoons that fan in
the late 1940z in the Mew ¥ orker, which apotheosized
a cettain popular, riddlebrow style in America. In one
cattooty, a tather dishewelled street vendor selling ties
at 25 cents each looks askance at his well-dressed
corrpetitor who 15 able to sell the same items,
elegattly called crawats, at one dollar apiece. Another
cattooty shows a doughty group of women, one of
whomn  exclaims: [ know what! Let’s play Old-
Fashioned hefore we start tallang French™ The allure
of France, of things French in American culture, tmust
tot he underestimated as a contiting theme in
accounts of the popdarity of esstentialism and of
exmistential @ thinlers,  and  esistential  thinkers
conscioudy played on this fascination

Before the Second World War in Furope had ended,
before the atomic bomb had forever scamred the
physical and mental landscape of modem men and
wornen, the existential figre and ideas of Jean-Paul
sartre had alighted on Amercan shores Sartre wag
determnined to become an influential figre in boil
Furope and the TUnited States. In “Pariz gliNe”
trandated by Lincoln Kirstein, Sartre intfoddced
himeelf to Americans. In a note to thef eszay, the
editors of the magamine chamctemssd Sarire,
incorrectly, as “one of the miitary leaders”™ of the
French resistance dunng the war fAlthotoh Sartre did
fot refer to hitnself as a leader, Gt Oriwersalised his
discussion of the psycholpgical mipsEtt of Germman
occupation upon the Frenchoby pranouncing: “Hewer
were we freer than uidés the Genman occupation™
With this strange, apparently contradictory observation
about  the nature) of “eedom, Sartre began  to
comnunicate Smistehtialist  ideas—without naming
thern fomnally—to s American awdience In the
eszay, Sarfre alstouched upon themes that would
later @Bgome associated with the eszentials of an
exigtentiall st perspective:  authenticity, choice, the
presenfe bf death, loneliness, responsibility, and the
notion that “in his feedorn in choosing himself, he
[tnan] chose the freedom of all”™

Major introductions to esistentialisrn appeared in
Arnerican magarines betwesn 1945 and 1945 The
dizsetnination of existentialist ideas and persoralities
in the popular press was more than a story being
ratrated vpon the inet intellectual bodies of Sartre,
Beawwoir, Carms, and emstentialism. Az Anna
Boschetti has noted, Sartre and his followers had
carefully orchestrated  their reception in order o

ERad I3
capture the French intellectual field, thus assunng,
albeit brefly, that esstentialian would dominate,
martre and Beauvoir attermpted to influence the
reception of thelr philosophical perspective on the
Arnerican intellectual field as well.

101, Why does the author sy that the term
"Emsentialism™ 15 notorousy difficut to
define?

it has a varied background

an ezistentialist beliewes in God

it draws fotm roary thinkoers

1 and 2

1 and 2

1, 2and 3

. Only 2

102, Which of the followding statesfefil 12 true?

An edstentialistbelievisin God
b, Ezmstentialism origheted in France
c. Esdstentimbigts were against feedom as

they thought 4 was “dreadful’
d. Esdstenfialisn was not accepted by the
Amerigatis

103, _Theumnain point that the awthor makes in the
thitd paragraph isthat:

& France was the culbural capital of the
world

h. the existentialists were considered as
“erratic, left- bank bohemians™

c.  the portrayal in the media of emstentialism
created misunderstandings about
intellectuals

d. Emstentialism was not accepted as a
philozophy for 20 years

104, What word would best replace the word
“apotheosise™ as uzed in the passage?

a. hypothesized

e L e

o

b, created
C.  encouraged
d glonfy

105, It can be concluded from the passage that;
a. the philosophers held the American press
in dizdain
b, the philosophers did not bother about what
was written about thetn in the press
c.  the philosophers were satirised in cartoons
d. the philosophers used the press to promote
therm selwes
106, What would be the best meaning of the line,
“Mewer were we freer than under the Genman

ocoupation,”
a. the French were fee during the Gennan
ocoupation

b, the French were not fee duing the
3 ertnan ocoupation

c.  the French were responaible for their owm
fates

d. difficultto say




107, What iz the hest definition of existertialism,
ttat can be inferred from the passage?

a. man 1z what he males hirmeelf and 1=z alzo
responsible for what he makes of hirnself
to emist iz to he

o tnan is fee but the feedom to choose
causes him arsdety

d. difficultto say

105, Which of the fallowingis not mentioned in the
passage!

a. Albert Carnus

b, Wilhelmn Mietzsche

c.  Bemard Frechiman

d. FeneCazzin

109, What would the best title for the passage?

a. Exmstentialism

b, The Inpact of Existentialism on Ametican
Culture

c. TheFrench esustentialist philosophers

d. Howrthe Press Created Exstentialism

PASSAGE 2

“Ian etrs, till he has ceased to stive™ So sghs the
foue of God in the prologue to Goethe's great
poetical drama, “Faust”. Driven by hiz boundless
desire for lnowledge, the play’s ering hero stnves
tri ghtily throughout to discover “what holds the world
together in its immermost self™ Generations of directors
and theatregoers hawe asled themselves much the
same question when struggling to congprehend thig
theatrical Everest.

For Peter Stein, one of Germany most celsbidbed
directors, staging all 12,111 lines of the “worlil pofm
Goethe spent neardy 60 years writing haz béen @ life-
long dreamn [tz reputation for being anpecfornetle
began with the writer himself Goethe| descibed
“Faust”™ to his fiiend and fellow dramatist Friednch
schiller az a “poetic monstroaty™ Lérgely because of
itz unique, uncategonsable, second e, no modern
director tas ever staged it al one ggand in itz entirety.
But though he had to“W&it Untl hiz d0s, Mlr. Stein
never abandoned hig, ooal Hiz production at once
became the talk of Gerridhg

“Ary fool can $age Part one of “Faust”™, said IWr Stein
modestly, dad Wil even he would agree that not
every fool\catislae part one well, its themes and
storied Bse Brriliar enough. Conceived in the *1 770s,
whin Geetle was in the flush of Sturm and Drang
rotnatitdeisrn, part one bursts with ideas and with
yohful exuberance. [t is also dramatically original
and peychologically brilliant.

Mephistopheles appears to a disillusioned Faust and
offers to be his servarnt, revealing to him all “earthly™
Inowledge, The catch is that, in the next woild, they
will swatch roles. Faust talees the offer. Yet he iz
tungry also for power and pleasure, “Two souls do
dwell, alas, within oy breast!™, he says. He etrs badly,
and philosophical dratna becomes huren tragedy.
Faust seduces Gretchen, an innocent gifd, who is
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executed for lilling their illegtimate child. Faust also
causes the death of her mother and brother,

Yet the cause of all this suffering himeelf survives for
patt  two—Goethe needed no lesson from
Hollywood—and it is here that the difficulties begin
Ilost directors, sitnply give up before the challenge of
the second part, and it iz not hard to see why. [ts mnge
of subject rratter, its rristure of gerres and its varieties
of tone make it a challenge to read, let alone to pull
together itto a coherent piece of theatre It took MMr
otein decades to understand, though now, b sa9s, he
reads it “like a newspaper™.

Ilaybe so, but Bild Zettung it 15 not. There 12 vitually
tio storyline, no unity of titne o plase atidhno lifmit to
the spiritual and intellectual congndnane with widch
Goethe's  lusutant  imagiratioh  cofftonts his
watdering heir The post Were surnsSd) his personal
teligion, depicting a complész, ingerfect deity that is
btnorous, cynical and ldnd “Sbethe same time, patt
two 1z worldly and gommic, bringing in Goethe’ s leamed
soentific interests 45 @well as Hs: wideranging
hstorical andesatifinic apinions. Topics include paper
currency, atfical lite, Morse and classical myth as
well as the réstlessfuest for techmical progress.
Ctefaparh fromn what i all means, there are several
practical Ta cidthat until now tave ldlled any attempt at
professional staging The fdl play lasts 21 hours,
mchuding brealcs. C ounting stage time alone, it nins for
b hors. (A comparable towr-de-force iz Bichard
Wagner' s four-opera “Fing” cycle, which nins from
14 to 17 hours). At Hanowver, audiences have a choice
of a two-day “Faust”™ marathon at weeltends or ==
seszions on consecutive nights. The play alzo needs a
mge perfomance space and a committed group of
actors. IWIr Stein’s 35 actors have signed on to his
“Faust” project for the duration.

Az guide ropes in scaling this peals, Wlr Stein chose to
gtick to the testt and to follow Goethe's own stage
directions. Thiz refusal to impose an interpretation of
hiz own provoled the critics, bt made theatrnical
sense. When Wlephistopheles first appears to Faust, he
1z dizmized az a black poodle, and a real hlack dog
trotz on stage, wapgging his tail in a deceptively
undesilish way. In part two, as Faust speales the lines,
“I watch a mimror here of man’s whole story™, Goethe
called for a rainbow, and Wi Stein’s designer antfully
ohliges,

The productioniz a feast for the eye, even if Ferdinand
Wogerbauer's part one set, as some have conplained,
is too safely conventional. The bookdined study at the
begnning in which Faust gluraly ponders his Lfe is lit
by a singde gothic window When Faust and
IMephistopheles enter the witch’s kitchen, sheisa tnily
ugly Halloween witch, Stefan Mayers design for the
second part 1z, suitably enough, more ahstract and does
tiot follow to the last detail Goethe's instructions for
leafy groves and rockoy caverns.

For theatregoers, it is all an exbilamting expetience
and not as wearing as it sounds. Wr Stein has used two




stages in a large kall in Hanower’s Expo zoo
corrpound. The audience moves fom stage to stage
after each interval. A nice air of theatnical cormrmnism
prevails. In the masked camival and in the impenal
tangquet scenes, the audience becomes patt ofthe play.
After watching it over two days, this rewewer at least
felt azifthe actors had becorme old fends

Ilost of them performed at a high level throughout, an
astonishing display of expressive talent and starnina
Ilr Stein split the roles of Faust and WMephistopheles in
twn, Bruno Gane and Christian Mickel were to share
playing Faust. But Mr Ganz, one of the finest Gertnan-
speakang actors, bt himselfin rehearsal. For now, the
relatiwely unbmowm W Mickel st handle the entire
tole. Given that he is on stage for siz of the play’s 15
hours, he can pethaps be forgiven for a somewthat
unevern  petfortrance. The  two  actors  playing
Mephistopheles bave a differert problem. One iz
brilliart, funny and cynical the other iz graver and
more eamest. Dorothee Hattinger as Gretchenis alittle
too spatkly and chanmning for the plain gifl she iz
supposed to play.

110, Which of the following statetnerts 12 not true?
a. Goethe spent almost 60 years in wiiting

“Faust”
b, Faust agrees to trade souls  wath
Ilephistophel es in the nest hirth

c. Faustisanepicpoem
d. Faust iz a true story of a German doctor
111, What would be the best meaning for the e,
“Two souls do dwell, alas, within moy biga g™
a. Faust had two zouls
. Faust was confiized and thuesemed bady
c. Faust was caught up  betwee two
conflicting desires
d. Ewery man has two naln®sz, ofe for earthly
Imowledge and, the othigeefor power and
pleasure
112, Why 1z it conddered difficdt to stage the
second partafFansty
[ it has avsidetange of subject matter
II. it i Sygrsture of genres -
IMlait is) cifficult iz diffioult to read and
undesstand
&, Oy [and II
b Only [Tand 111
£ Ondy Tand 111
d- I, Tand III
113, What would be the best meaning of lour de
force” mentioned in the passage?
a. alongtourlasting 14-17 hours
b, a forcefil display ofideas
c. a feat of strength or dall
d. aplay havinga forcefil impact
114, Which of the following statemerts are tre?
a. Mephistopheles iz a black poode in the

play

e
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b, Mr Btein did not follow the instractions of
Goethe
c.  The sets for the two parts are designed by
different designers
d. none of the above
115, Why did #t rmebke theatrical sense to follow
Goethe’s our stage dissections?
a. it would keep the play authentic
b it would help in keeping with what Goethe
originally meant
c. it would not have provolzed the cdtice
d. it waswhat W Stein wanted (67840
116, Which of the followang are MOT, defectsof the
play,asmentioned in the passager
[ Gretchenin too spatldd and Chariing
II. the audience becores patt offthe play
IIL the role of Meplastophel@8has been split

i twn.
a. Onlyl
b Only LI
oo T&II
d.  Lhare 111

117, Whiat doesdhe author want to etnplas se when
he sdys thatl an air of “theatrical comtminiam”™
preral sy
4. fthe audience and the actors becotneas one
bthereis much confiusion in the play
c. the worlcers and the wiewers are treated as

one
d. thereizs no difference among the actors and
the audience

118, The passage could best be described as

An excerpt from a literary magazine

A review of Faust

An attermpt to explain Faust

Praize the director who has atternpted the

impozshle

a0 oW

PASSAGE-3

The wodd renowmed management guru and the
originatar of the concept of core competence, CE.
Prahalad, explains that the concept was bormn when the
management world was flooded with irprovernent
ideas arising from the TOW gente and Feenginesring,
Wiat Prahalad and Gary Harmel argue is that while
these measures tmay lead to better or improved
mranagemnent, the gquest for competitiveness has to
primnanly come fom different strategies to be pursued.
They call thiz the strategic intent. How are these
strategies to be formed?

A distinction bas to be drawn betwesn products and
competencies. While a product iz the resultant of
wanous inputs that are organised in an efficient
tratnner, competencies are grown from within, They
catmot be just organised but wall have to be built ower
a period of tme While products prirarily require
facilities, competencies are a combination of people
with  the requisite knowhow acquistion.  Thus,
corpetitiveness born out of product supetorty can




gadly be eroded when competitors improve their
products. On the other hand, commpetitiveness born out
of ingrained competencies can stay longer.

The picture before the after the Second Woild War iz
proof of the abowe concept. Even though the physical
facilities were all  devastated, becanse of hasic
competencies, the people of Gerrrany and Japan could
rebuild the econotoy in no ime The wheel has come a
fiall circle by the end of the century when they are on
the top againl During the 80s, Canon and Honda gresw
enworrnoudy corrpared to Xerox and Chrydler. Through
the adoption of the improverment method competitors
quicldy reach compatable standards What then can
gtill provide the competitive edge? This iz where the
advantage iz to be generated through management’s
ability to consolidate technologies and production
geills into  competencies that enable individual
businesses to seize quickly the changing opporturities.
Core cotrpetencies, according to Prahdad, are the
collective learning in the orgamisation, especially how
to co-ordinate diverse production sldlls and integrate
trltiple streams of technologies.

Often, there iz difficulty in identifying what iz a
comrpany’ s cote competence. OF course, what it 12 not
cat pethaps be more easly perceived. It is not merely
vettically integrating the business, thereby maldng
everything under one roof [t iz not merely using
cormon plant or services facility or sales force,

Hamel and Prahalad suggest 3 tests. (1) Core
competence provides potential access toa wide variety
of marketz, (2 it should make a significant
contribution to the perceived customer henefitz@@fihe
end product and (3 it shoudd be difficudtfoe
competitors to indtate. It has been estimated that fegr
corpanies can build world leadership dangmiore than 5
or & fundamental competencies. In the Indian scene, it
15 easy to see that companies like Sundarani Fasteners,
Feliance and Bajaj Auto which Gatre figured in the
Aga’s top 20 comparnies list hawe @wdged alt their
fortines based on their cote competencies. But the
pictureis notall that clegratiiregand to other,

[z it the reazon wirpdhey re 1ot competitive globally?
The answer iz not all thab easy. A criticism that is
leselled iz that fhe [udian business houses are far too
diversfiedand fet Housed. The counter-point to. the
Prahaladian dottane bas come from Prof Palepu of
the HMagrard Business School who  says  that
disetsi figatidipis not strategically incotrect in this em
of coreeainpetenice. He argues that core comrpetence is
a Westerm concept and that Asia’s large business
groups can mrture non-conventional competences. He
says that diversification in a group can be combined
with focus in a company. His main contention 15 that
any organisation iz a function of the markets around it
mince mmatlket: always don’t work o developing
econotries like in the Western world, institutional
tnechatisimns do not exst on thelr own and fhus iz
precizely  provided by large, diversified business
groups. The five institutional elements identified are
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([ the market in which a company sells its goods and
serwices to its consumners, (2) the maret in which it
gets talent into its companies, (30 the market where it
rizes ite financal resources, (4 the matket for
cortracts or the legal systern which binds contracts or
the legal systern which binds contracts and (5) the
degree of goverment interwvention. According to
Falepu, the big business groups actually create these
institutions as their core competencies.
Ilore often these are intangitle and are sxpensve to
build and can only be atternpted by largedbuginess
houses. Howewer, he also mentions that thd® i stituiien
bilding will take at least 2 or 3 decades aftefywhich
the core competency concept ez, HEgoame tnore
applicahble.
When we consider the abowe coficept, it/ fits in vety
well with the present dawineed ofSilie tremendous
inflastructure problerms which the government by itself
iz just wnakle to cope with. Thewdea of large business
houses entenng dmbmy, this, infrastruchire area is
considered to be@ nefeggary one, though it may nn
corrpletely conteany o theidea of core competencies.
It would agpear that 11 12 not all that easy for Indian
corpanies 48 metely follow the concept of core
corrpitetice, A tiew formmila has to be hatnmered into
shape 26 to What core competencies to identify and
devel opandl what institutional mechanisms are to he
evidbed. Thizs will indeed be the turming point. Some
gzangles do exst in this contest fom the Asian
Tigers, who have not been studied in as great a depth
az Westem comporations. We are indeed at cross roads
and the turning may well bea truly ndian zoliution to
mriad Indian problems.

119, What iz strategic intent, according to the
passage’
a. TOW genre was responsible for the hirth
ofthe concept of core competence
b, The measures may lead to better or
improved management
c. Different strategies have to be followed to
reach the quest for competitiveness
d. Fe-engineering is alzo the reason for the
cotcept of core cotrpetence
120, What, accarding to the passage, is the
difference between product and competences?
a. products are technological bt
cotnpetenicies depends on people
b, competencies have to be shaped and
developed bt products bave to be made
o products are efficient vee of resources, bt
cotnpetenicies are human resources and
lenow howe
d. products and competencies are the same,
oty the approachis different
121, What is the central idea of the passage?
a. Anexplaration of core cotrpetence




122,

123

124,

125,

124

b, Coping  with  complex  managerial
challenges

c. How to apply core competence to Indan
induatry

d. Trends inmodern managerment thought

The proof of core competence after the Second

World War 1z that

a. the Germnans and the Japanese rebuit their

econotny  though the physical facilities
were all destroyed and they are on the top
again

Canon and Honda grew  enorroously
cotnpared to Xeroxz and Chiysler

tnaty Japanese companies becatne world
leaders

technologies  wetre consolidated  into
cotnpeteticies  to take advarntage  of
changing oppotturities

Which of the following are the evaluation tests
for core cotrpetence?

L

II.

IIIL.
I,

a.
h.
C
d

opening up of access to a wide variety of
tnarlkets

signficant contribution  to
benefitz of the end product
difficulty in being imitated
that no company is able to build global
leadership i more than 5 or 6 fundamental
competencies

I, Mand III

ITand III

[Tand IV

I, Mand III

custotrer

What 15 thetitle for the pazsage?

a.
h.

C.

d.

Prahlad and Gary Hamel” s Mew Creefd
Identifying  and  develapitic  “Core
competencies

Infrastructure Drewveldpment, and  Core
Conmpetence

The Prataladian doctirne

Falem: of Harvard Blsiness School.

a.
h.
C.

d.

agrees Witk die
cotmnpelenee

does ngt agiesywith the concept of core
cofffietenice

i 1difiSrent to the concept of core
COtfpEbence

difficult to sy

concept  of  core

Thetihstitutional elements according to Prof
Falem are

L
II.

I

28
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L
. tnatket for contracts and legal systemn and

selling and service market

tmarket for spotting talent for  their
COMpat es

financial resource market

the degree of government intervertion
Tand II

[Tand III

Tand IV

I, Tand I
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PASSAGE 4

While several discoveries in science ever snce people
started engaging in organised research activwity have
led to a better Lfe for the average lnnan being, it
catmot be gainsaid that some have been used to cause
untold rmisery to wast sections The developrments in
soence and technology have proved to be a tixed
hlessing-tnatvellous medical discoveries like pericillin
and antibiotics hawve cured diseases whereas the
fabrication of the atom bormb has resulted in wiping
out ertire towns and populations. It all goegd 1o show
that science 12 a double-edged weapon helElse it Gan
be uzed both for good and evil porposesgHeretihcomes
the crucial question of ethics Iz it ot passble for a
seientist to say “no” when asked A0 talieh wporesearch
that tnay one day lead to destrucion? This posetr has
been troubling the participaéits m resgdich activity for
decades. MNoelle tenoir, who has serwed as oa
chaitperson on the InternationdbPioethics Comtrittes
of UMESCO andeisy, now, heading the Furopean
Comrission’s Group® of Adwvisers on the Fthical
Implication ey Bidtechtiology, has done well o
hghlight seweral related issues in the World Science
Feport.
While bifler disputes followed the dropping of the
atarrihafnhs dwer the two Japanese cities of Hiroshitra
and Magasdld in 1945, there was no orgatised reaction
asguch. Bt the developments in biology lile genetic
engneering, which is nothing ot a process of
modi fring living organismes, led to an ethics movement
even three decades ago Significantly enough, a
corference of geneticists meeting at Azilomar in the
115 declared a momtoriun on research for one year,
providing a pavse for understanding the possible risks
to hunan health and the environment as a result of
uzing genetically-modified organisms Dunng the [
B0z, ethics panels were setup in several courdries
France was the first country to establish a national
consultative comumittee for ethics in the life and health
soences. A auvey made three years ago by the
MESCO Bioethics TTnit pointed to the fanctioning of
more than 200 national ethics conumittess all over the
world, It iz interesting to learn that there iz now a
dizcemible movement from ethics to law with the aim
of protecting hurnan rights ficed with the challenge of
srence and technology. Again, it is worth noting that
the Thter parliamentary Urdon placed the issue of the
links between hHoethics and hwnan rfghts on its
agenda. Essentially, the objective of these efforts is to
affinn that the hman being is not a mere object for
SC1EfICe.

127, Why are developments in scence a double-

edged weapon?
a. they have remdted in both hannless and
harmfial things

b, they have been beneficial and destructive
c.  they hawve developed withot ethics

d. none of the abhowe




125, Why did the scientists declare a moratorivm
on research for one year?
[ to study the risks to hurman health

Ii. to study the risks to emsrirontment
III. to debate about ethical issues

a land Il
b Tand III
c. ITandIII
d. I, Tand III
129, Based on the showe passage, we can say that
the author feels that:
a. scientists should refuse to do research on
destuctive things
b, ethics cornfrittees should be established
c.  hurnan beings are not objects for sclence
id. Mone of the ahove.

130, The atticle istmost probably written by a:
a. scientist
b, social activist
C. NEWSpaper reporter
d. cammot sy
131, The tone ofthearticleis

a. analytical
b, eritical

c.  descriptive
d. judgmental

132, Why was there no organised reaction to the
miclear hombs  dropped  on Hiroshima,
according to the writer?

a. people did not feel strongly against them

h. there were no ethics  conurittess
established at that time

c.  the world waz too shocked to respond

d. none of'the above

133, Which ofthe following statementgis not troe?

a. there are more than 200 national ethics
cormmittessall over thé warld

h. scientists have declassl 2 declared a
moratorium on gesearch fetme vear

c. hitter disputes Tollowed the dropping of
the atom bogibs

d. there iz@unovement for protecting nrman
rights

134, What i§ the best title of the passage?

a. «Ethicg and scientific research

b O Human beings and scientific research
B, wcience is a double-edged weapon

i “Frotection of human rights

PASSAGE &5
On oa personal lewel, winning doesn’t mean the other
guy basto lose As former P&EG brand manager Bruce
Ihiller put i, “It s ot a zero-sun game. It's more like
golf than termds, you are playing against yourself and
the course, not the guy across the net or in the nest
office. Flay your best game and, if'it’s good enough,
you'll be a winner, ¥You right not achieve the specific
goal you have set, but the compary 15 bg enough and
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flezible enough to move you up and omward in a way
that suits wour talents. That’s winning ™
Whiller remetrbers the story of an assstant brand
tratager who, by his own account, wasachieving great
things and looked as if he had the world by the tail,
"4t ahout the titne hiz “clasd” was ready to go out on
sales tratning, he had a closed- door meeting wath his
boss His peers assurmed he was the first to get the nod.
It turned out his perfonmance had all along been more
flash that substance, and the meeting with his boss
was to discuss other career alterratives dnside or
outside the company. DMhiller iz consine®d that the
tnoral of the story 15 that winning iz all about yaur own
petformantce and not ghowt keeping an with what the
other quy seetns to be doing.

Forrner CED ED Artst equEles  winning  with
professionalism It's rastery of the TEdamentals And
that’s what you must do togsin i management. ¥ou
trast master the fondamental S the business you're
in, the functions gowyperform, and the process of
tranaging peoples 1 gou don't do that, wou'll
evertually hesame S {0uNey man or jOTey Wotnar,
and the brilliance yau onice bad will surely tamish.
Ilastering the fundsmental s of any profession, beit in
the afls, shotts, "0t business, requites great sacrifice,
endlessdepetition, and a constant search for the hest
ey toldadhings. A professional in search of mastery
britsgs an attitude to his or her worls that no sacifice is
oo ‘great and no experience or gnut worl is too
metual 1§11t helps achieve mastery of the fandamentals.
It all hegins with attitude, stnving to  attain
professionalism and embracng winming as a way of
life. if you want to become a winning manager, [ wwrge
wou to embrace that attitude with all sour oo ght.

135, What does Mlidler mean when he says that
Winning 15 not a Zem sum game’
a. 1t does not mean that the other guy has to

loze
youare playing agamst yourself

c. it s morelilce golfthan tennis

d. the company is big enough to move you
up

136, By “more flash than substance” the author

IEAnS:

a. the achievement was tetoporary, not
lasting

h. the achievement was more a matter of
chance

c.  the ranager was fooling himself
d. none of the above
137, A {0WMTEVIAN Of |OUNTEY WOIat,
[ isnotamaster of fandamentals
II. isjust pasang time
III iz not brilliant
a. land Il
b I, Tand III
o land 11




d. ITandIII
138, The author feels that:
a. mastenng fundamerntals 1z essential towin
b, mastening  fundarmentals requires  great
sacrifice
C. wintingis not a Zero sun garne
d. none of the above
139, The best title for the passage could be:
a. Winning
b, Winning and Frofessionalistn
o Gettinga Winnet' s Attitude
d. Mastering Fundarnentals is Important
140, The author is most likely to bhe a:
tnatagernent consultant
newspaner reporter
writer of self help books
careet cougellor

oo o w

PASSAGE 6
Hunger iz about people. Itisalso ghout oppression and
inequalities. Hunger 12 about comupt politicians and
comrupt  bureaucracy, it iz also about power and
powetlessness. Hunger iz about homrowed ideas of
soence and technology and development which have
ot wotked in local realities, it 15 also about the
dizirtegration of local commurities, about loss of
walues, tradiions, culture and spintuality, Ending
mnger is the important wnfinished agenda of this
centiry and of independent India.
The world as a whole has achieved dramatic increasg
in food production, enough to cover the monimong
needs of the global population Yet hungs™ and
malnutition persist in alarming measure in diadand
other third World countries. The Wofld Blanlds
estimates are that over a hillion peopleyin the wiorld
tave problems of food securty  The Food and
Agricultural Organisation (FACHestimpates| point ot
that 64 developing countries out aEATT will be watle
to feed their population adequately Sffthat 38 out of
theze deweloping countries Wwill be able to feed less
than half o ftheir populalione adequately.
India believes that4dis problems of hunger and food
security are almosh ovelsbecause of the significant
increase in prdductivity achieved through the use of
new tectnobaoiedo i the Green Fevdution. Foodgrains
per capital incréased fom 395 grmins in 195 Ito 466
grarns(iy, 1983, There are reports about surplus stocks
uzgd fon edperts, also reports about surplus stocks
rottinghekanse there are not enough storing facilities,
And et in such a situation, we tave millions who go
tngry and who die a slent death of starvation and
malnuttition, In 1974 the FAD organized the first
Wotdd Food Conference, where its members took a
pledae to end hunger by 1984, Herey Kissinger, than
U5 Gecretary of State wowed at the meeting that
“withinn a decade, no man, woran or child will go to
bed hungry.™ A gquarter of a century later more people
are dying of hunger.
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FAQD orgamsed its second Woild Food security
Conference in 1985 which reaffirmed itz morl
comnitnent “to achieve the objective of ensuring that
all people at all tirmes are ina postion to produce the
btasic food they need™ In 1996, yet again, FAOD
orgarised its third global conference on food security
with rouch fanfare The result of this third sumorot
meeting was another declaration, called the Rome
Declamtion, affiring once again the right of everyone
to be free of hunger. The surmtrit also offered an action
plan to reduce the munbers of hungry people i hal f
within two decades — a tore modest @8Etrdtirgsd
thati tra de by Kizsinger a quatter of a cehlury aga.
In spite of the three global conferences, the futire of
food security looks as bleakas evér Fiael Castro, who
was alao as attending the third FAD suniimit meeting,
pointed out “Hunger is the Af-springial injustice, and
the unequal distribition offthe wealth of his world.
mocdal  and  econornic sudpl@: have  actually
trarginzalised thepoar and deprived them of the
treans to eat”.
The NGOz andypedple’ s representatives who had also
gathered fiof this gutmrmt meeting said in their final
declammtion, “Enairing food security detrands an
apprafch te agricultire policy that iz in almost every
reapect dhe toverse of that adopted by the Surmit’s’
delemates™ They suggested that instead of pursung
policies that encourage corporate agrniculture, there
ghould be policies in laboured organic production,
redicing or eliminating the use of pesticides and other
agro-chenucals,
And instead of hooling fanmers’ into a  global
economy  over which they have no control, they
suggested that resources be shifted in fawour of local
farming and regional food producers and food systemes

141, According to the World Banlk, how many
people face problems of food scarcity?
a. 2 million
b, 100 million
c. 500 million
d. 1000 million
142 What had led India to believe that it does not
faceany food crisis?
a. Thepresence. of surplus tocks of exports
b, Eeport about surplus stocks rotting
c. The apparent success of the Green
Eevolution
d. Both (a)and (o)
143 v odid the third FAQ surrnit moderate the
pledge made by Kizsinger in the first surnenit?
a. Becavse Hissinget's promdse was too
arnhitious.
b, Because in reality, it is newer possible
elirmirate hunger and powverty from the
world




144,

145,

144,

147,

143,

143,

150.

c. Because Eisasinger's promise had started
to look unattainable as more and more
people were dying out of hunger,

d Because FAD s resources to eliminate
poverty were lirmited.

What iz the major point in the NGO s stand

after the third FA Q) surrrmit?

a. The agricultwe policy adopted by the
urnrit’ s delegate will newer lead to food
secuty.

b, Farmers should be provided security first
toachiewe food security for the wotld.

c. Local fartring should be encouraged more

d Clange pattern of agriculture  from
cotpotate agricultwre to policies  that
favrour the fatrner.

All the following are instances of cotrtnercial

agrculture EXCEPT

a. usageofpesticides

h. usage of agrochermicals

c. inorganic production

d. regional food producers and food systemms

What iz the basic paradox of India’s food

system?

a. That iz spite of being a Third World
country, it bas enough food surplus

h. That in spite of food swplus, several
people die annually

c.  That spite of large-scale food production,
the farmers are all poor

d Bothland3

What, according to the authar, 1z thefbasic

causze of hunger?

a.  faulty agricultural policy

b, lack of purchasing power

c.  faulty govemmental policies

d. inequality and powerl g2znees

The author says all the follasiing EXCEPT

a. Per capita availahility ofeféod grains has
decreased from 1951 to, 1993 in India,

b, FAD s progdges in its sumurits have
mostly done taiililed.

c. Fidel Castrodes cormmmni st 1eader.

d. Huger Vand malnotrition  constitute a
seriohs 1ipending crisis to the world,

The amthor definitely says which of the

fallisming in the contest of the passage?

& Hhnger iz caused, at least in part, due to
implemertation of borrowed  scentific
ideas.

b, Beveral Third World countries are in the
process of elirminating hunger,

c. Green Fevolution was bazed on borrowed
technology.

d. &s of now there seetns to bhe a new
direction to acquire food security.

How doeg the author corroborate the thind

sentence of the passage?

Sihef 33
a. By pointing to inadequacies of the policies
of the governtment.
b, By pointing to the filed promises of FADQ,
c. By pointing to the words of Fidel Castro.
d. By pointing to the resoltion adopted by
the MNGOs.

SECTION-4

Directions: (). 151 to 155 are based on the graph
given below:

molubility - Temperature relationships for@afious salis,
(The ¥-axiz denotes Solubility (kg/litredof water)
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152,
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154,

155,

Which of the following saltz has greatest
solubility?

a. Potassium Chlorateat 80°C,

b, Potassivm Chlorideat 35°C,

c. Potassivm Mitrateat 39°C.

d. Bodiwn Chlondeat 85°C,

Approzitrately, how many kg of Potassivm
Mitrate can be dissolved in 10 litres of water at

30°CT

a. 0.04
h. 0.4
. 4

d. 0.35

By what % is the solubility of Potassium
Chlorate in water increased as the water is
heated from 30°C to 80°C7

a. 100
b 200
o 250
d. 270

If | rmole of Potassiumn Chloride weighs
07456 kg, approzimately, how many moles of
Potassiumn Chlonde can be dissolved in 100
litres of water at 36°C7

a. 700
b, 650
c. 450
d. 540

Which of the salts has greatest change in
solubility in kgflitre of water between 15°C
and 25°C7




Potassium Chlorate
Potassium Mitrate
modivim Chlomte
modium Mitrate

o oo

Directions for guestions 156 to 159: Study the
information below and answer guestions based on
it.

A leading socialite decided to organise a dinner and
iwited a few of her frends. Only the host and the
hostess were sitting at the opposite ends of a
rectanmilar table, with three persons along each side
The pre-requiste for the seating arrangetment was that
gach petrson tnust be zeated such that atleast on one
sde it has a person of the opposte se Maghod is
opposite Shobha, who iz not the hostess. Ratan hasz a
wotrat on his right and 12 sitting opposite a wotnan,
Monisha iz sitting to the hostess’s right, nest to
Dhirubhai. One person is seated between DMadhun and
littnila, who iz not the hostess. The men were
Mlagboaol, Fatan, Dhirubhat and Jaclkde, while the
wiotnet wete Ia dhort, Urnila, Shobha and Wonisha.

156, The sighth person present, Jaclde, st be:

[ thehost

II. seatedto Shobha'sright

II1. seated oppodte Urtmnila

a. lonly

b IIT only

c. land II only

d. 1l and [T only

157, Which of the fillowing persoms iz defitifely
not seated next to a person of the same gesd

a. Dlaghoal

b, Dladhur

o Jadde

d. Shobha

138, If Ratan would have excliefiged seatz with a
person four places,to iz ledywhich of the
following would Nave been true after the
exchange?

[ Mo onedims seatedBetween two persons of
the oppesteees (e g no man was seated
befieen wo Wormnen)

I aBneideof the table consisted entrely.of
persuns of the satne sex

I Either the host or the hostess changed

Seats.

[only

II only

land I only

. land [T only

159, If each person is placed directly opposite his
or her spouse, which of the following pairs
trmast be marn ed?

a. Ratanand Moncha

b Madbnri and Dhingbhat

o Urtnila and Jackie

d. Batan and Madbnei

oo o
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Direc tions: (). 160 to 163 are hased on the following

tahle and information given belms:

L. In 1984-55 value of exports of manufactured
atticles exceeds the walue of exports of mw
rraterials by 100%;.

2 In 1955-86 the ratio of¥s of exports of mw
traterial to that of exports of manufachored
atticles iz 3 4.

3 Exports of lod in 1985-86 exceeds the 1984-
85 fmurebyEa. 1006 crore.

Percentaoe of total walue of exports in India

Item 1084-85 JES-Eh
Food 3%
MManufactured Articles

Fawvatenal

Total walue of Export (in | 22400 25800
crore) of Bs,

160, In 1984-850%liat petgentage of total values of
empotts atcowfiador itemns related to food?
a. 2%
b, (U954
B %
N
1Al ™ Anrig 1954-55, how roach more raw matenial
that food was exported?
a. B 2580 crore
b Es 906 crore
c. Ba 19586 crore
d. Rz 1851 crore
162, Walue of exports of raw material duning 34-85
was how much percent less than that for 83-
a7
a. 3%
h. 425
o 7
d 316
163, The change in walue of exports of
manfactured articles from 1984-85 to 1985-
ahis
a. 296 orore
h. 419 crore
c. 2064 crore
d. 1794 crore

Directions for questions 164 to 166: Study the
information below and answer guestions based on
it.

Five of India’s leading models are posing for a
photograph promoting “World  peace and
mderstanding”. Bt then, Ralkesh Shreshtha, the
photographer, 15 having a tough time getiing them to
stand in a straight line, because Aishwmrya refuses to
gtand nest to Bushnilta because Sushmita had said
something about her in a leading gossip magamine,
Fachel and Anu want to stand together because they
are “auch good friends, you know ™ hlanpreet, o the
other band, cannot get along well with Rachel, because




there 15 some talk about Fachel scheming to get a
contract alteady awarded to Manpreet Anu believes
her fiendly astrologer who has asked her to stand at
the extreme nght for all group photogmphs. Finally,
Fakesh managed to pacify the gitls and got a beautifid
picture of five bheautifill girls staling beautifolly ina
beauti ful straight line, promoting wotrld peace.

164, If Aichwarya is standing to the extreme left,
which gif 15 in the i ddle?
a. Manpreet
b, Sushrrita
c. Fachel
d. Cantint say
165 If Adshwmtya stands to the extrerne left, which
isthe gifl who stands second from left?
a. Cantiot say
b, Sushrrita
c. Fachel
d. Mlanprest
166, If Anw's astrologer tells her to stand second
from lefl and Aishwarya decides to stand
second  fom fight, then who iz the gid
standing on the extremne fight?
a. FRachel
b, Sushrmita
c.  Nlanpreet
d. Cannot sy
Directions: For guestions 167 to 170 refer to tie
pie-chart given helow:

167, What fraction of Ghoshhatn’ = weight consists
of rrmscular and slan proteins?

HhER Ury
malasiai
1545
Frotein
15%
Water
T0%
ER i |
B
S
15%
CRhars
A%
kiusCins
25%
a  1/13
b, 130
c. 1720

d. Cannot be determined

168, Fatio of distnbution of protein in muscle to
the distribution of protein in Sdnis
a Il

|
169, What percent of Ghoshbabu’s body weight is
trade up of skin?

a. 015
b, 10
c. 12

d. Camnot be deterrined
170, In terms of total body weight, the portion of
traterial other than water and proteinds thasest
to:
a. 3720
b 1A15
o B5100
d. 1420
Directions for guestions 171 ta 174: Study the
mformation helow and answémihe guestions based
on it.
& B, C.D,E, Fand & ase hrothetrs. Two brothers had
an argummett and A Sd 0B “Youare as ald as C was
when [ wastwiceas old az D, and will beas old as E
was when heywas s old as C is now”. B osaid to &7
Y o AfEy B older than F but Gizas old as [ was when
vou werk az old az Gis, and D wall heas ald as F was
hen Foaadl beas aldasz 01s™.

AP Whois the eldest trothet?

=

oReN

armot be determined

172, 15 the youngest brother?

PR gen o
[}

Rl

d. Carmmot be determined
173, Which two are probably twins?
a DandG
h. EandC
c. AandBb
d. Cannot be deterrined
174, Which of the following is falss?
a. 5 has4 older bothers.
b, A iz older than G but younger than E.
c. B has three older bothers,
d. thereisa pair of twins among the brothers.

Directions: (). 175 to 178 are based on the follow ing
mformation:

The following table gives the sales detals for test
books and reference bools at Primaty fSecondary/

Higher Secondary/Graduate Lewvel s,

Year | Prirary | Secondary | Higher Graduate
mecondary | Level

1975 | 42137 5820 fi5303 25343




1976 | 53568 10285 71602 27930
1977 | 58770 16437 Ll 286387
1978 | 565871 15475 71668 Jnosy
1979 | 68413 17500 TRATT 33682
19850 | davls 20077 82175 3aa97

175 What iz the growth rate of sales of books at
pitnary school level fom 1975 to 19E07
a. 29%
b 51%
c. 3%
d. 183%
176, Which of the categories showes the lowest
growth rate frorm 1975 to 19807
a. Prirery

b, Secondary
c. Higher secondary

d. Graduate Lewel
177 Which category had the highest growth mte in
the period?
a. Prirery
b, Secondary

c. Higher Secondaty
d. Graduate Lewel

175 Which of the categories had either a consistent
growth or a consistent decline in the period
showm?

a. Pritaty

b, Secondary

c.  Higher Secondary
d. Graduate Lewvel

Directions (). 179 to 182 are hased on the goraph
oiven helmy :

Ilore

Lesz

Alrnost equal

.3

181, The total munber of Engineering students in
1991-92, azquming a 10% reduction in the
mnber over the previous yeat, is:
a. 5700
b, 57000
o 44500
d. Mone ofthese

182, In 1990-91, what percent of JBfiminecrihg
studenits were studying at 1IT&

16

15

14

12

o oow

oo o w

Directions: (). 183 to 185: abe'based on the tahle
and information givénbelow.

Banlzatal wotkcs = howfs asday and rests v hours a day.
Thiz pattern gantitioes for [ weel, with an exmclly
opposite patiem nest weel, and s0 on for four weeks.
Every fifth Weel He has a different pattem. When he
wirlgd longer than he rests, his wage per hour 1= twice
ofatiatdie eatns per hour when he rests longer than he
fintlos.

The following are his daily worling hours for the
wEekemunbered 1to 13

19 week 5 el S reel | 13% week
Fest 2 3 4 -
Witk | 5 7 fi i

B Privata Engy College O Govt. Bagg. CollEge
O Regional Engg College D FFs

1835 Bu 0158990 100091
Mummb@iy o Engineering  Students (in hundreds) at
institutians af different kinds

179, What was the total number of engineering
students in 1959-907
a. 28500
b 4400
oo 4200
d. 42000

180, The growth rate in stadents of Gowt
Engineerig colleges corngpared to that of
Private Engineering colleges between 195580
and 1889-90 iz

& weel conssts of & davs and a month consists of 4
weels

183, If Banlatlal iz paid Bs 20 per worddng hour in
the first weel, what iz his salary for the first
rmonth?

a. 1440
h. 2040
co 1320
d. 1as0

184, Banlsatlal’s avermage monthly zalary at the end
ofthe first four months will he:
a. 17a0
h. 2040
c. 1&30
d 1as0

185 The new manager Kushaldas stipulated that

Fa 5 be deducted for every hour of rest and
Fa 25 be paid per hour starting the weel:, then
what will be the change in Bankatlal’s salary
for the 37 month? (Houdy deductions and
salaries are constart for all weels starting 9th
weel),
a. 40
b, 450
c. 240
d 0




